10 E REFFEE T 2L A EREABEKEFTT ? <
PR T A SR S ~E B R A 1 v E —Manim g o AR 0

FEF L OF FT

AR LA I 3% Sy = sinx ek T &g
RIEA 28 gp 2p 2lqm & B 2 AR Gr¥ 172 3 — s ST ) e g A%
o= j\ f_v%(ﬁ;f_mf/\ P o= ﬂ;;g? — Rt I\'."}E_[‘_‘ e Qlﬁ,{y - Sll’lX’J\ ! f‘fﬁmf I® E] ?ﬁ ’

(i6 * pri -
TP HE)

T34 e Sy = sin(kx) b % o

FEIP FHFVIL KFwd 2)

FAOAPLFIEFEALE NS B IBy = sinxfry = sin2x o AP LRES BAC 0 A 5
- SUIRVE o/l RN ]

[7% 1) &S dcy = sinxfry = 3sinx > 3#% & T 5| 4% -

____H_
=

(1) Py(2m,0) & #cy = sinx > RIP, ¥ydh ¥ &5 2 ¢ @3Sy = sin2x } eh2EQ; (1, 0)

(2) Py(=3,1) sy = sinx > RIP$yBo 55 % § 3] Sdcy = sin2a} gk
3m
Qz(_jr 1) -

(3) @ #rP(a,b) e ficy = sinx » PP ¥tyfh i r%lﬁ ' € 183 3y = sin2x} :rﬁ;g‘,LQ(g,b) o

BFH1:
y = sinx g A5 kL i 2? B ¥ Hy =sin2x @A
dy =sinxB]7;nF P 5 2n 0 ¥ Avy = sin2x @A) ik E 2 °

o . 1 1 R |
ERNOENCOERETEFE 2




[ =45 2] B3 Sy = sinxfry = sinZx > % § 7 7R AL -

I
1
I
1
I
1
4
1
I
1
I
1
I
1
I
1
I
1
I
1
1
T
1
1
1
1
1
1
e -

\

B LJ ————— -= - — - — — - — — - - — —
I \ —l
T =27 Lo TETTO), VP
B L2 QR Py
I tn . I I
1 1 ‘ I 1
I I I I

y = st

1
1
1
1
1
1
-
1
1
1
1
I
I
1
1
=
I
1
1
1
1
1
1

I

|

I

1

I

I
o

I

I

1

|
It
|

I

1
______ <
1
=
I

I

I

I

I

(2) Po(=5,—1) fudiey = sinx > RIP, Sty 5555 > § 1951 Sokiey = singx ) mQp(—1) -

(3) = 4vP(a,b) tiniicy = sinx » RIP$yho i 5726 » § % 5] Sdicy = sin%xi 18:Q (5, b) °

BEh 2

y = sinx g A5 kL i & oV EHy = sm;xm%}% )

L] AL} v 2 . 2 P v
dy=sinxR®2, & 5 2n 0 ¥ vy = sm;x%]l];mitﬁﬂ B °

(3w > (2) -2 Bk 2o 3me

2w 0 Sy = sin(kx) ek Hp
k>0 B)#-3#y = siny g2 kT @ ﬁils‘; » ¥ @y = sin(kx) HH 7 o

. 2T

d y =sinx B, ¥ 52 ¥ Avy = sin(kx) B3 ik d 5 =




BiNT

y

S

R 531

)

p

FoRE#R

31 %

@ TR

4

i

i o H BT X

=

« ERM AL LN e B X SER Y R

i éﬂﬁo

B2 A 2 B 255

O

Uik B ThBGER TS T

I

B1 4
L3

¥y = sin(kx) B] A5 ik 2

* 3




